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General Instructions :

(¥

The question paper comprises two sections, A and B. You are to

attempt both the sections.

(ii) All questions are compulsory.

(iii)

There is no choice in any of the questions.

(iv) All questions of Section A and all questions of Section B are to

v)

(vi)

(vii)

(viii)

(ix)

31/1/3

be attempted separately.

Question numbers 1 to 3 in Section A are one-mark questions.

These are to be answered in one word or in one sentence.

Question numbers 4 to 6 in Section A are two-marks questions.

These are to be answered in about 30 words each.

Question numbers 7 to 18 in Section A are three-marks
questions. These are to be answered in about 50 words

each.

Question numbers 19 to 24 in Section A are five-marks

questions. These are to be answered in about 70 words each.

Question numbers 25 to 33 in Section B are multiple choice
questions based on practical skills. Each question is a
one-mark question. You are to select one most appropriate

response out of the four provided to you.

Question numbers 34 to 36 in Section B are two-marks

questions based on practical skills. These are to be answered in
brief.
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HOT-A
SECTION-A

1. 39 g9 Aoft o q8cl 4 Gel o 1U-g3 fafau e yemiar
TqE —OH 2 |

Write the molecular formula of first two members of homologous

series having functional group —OH.

2.  TicHlifegd Torg Yo S Al © ¢ I Tafer wifirers @ steran stafies ?

How does Plasmodium reproduce. Is this method sexual or

asexual ?

3.  3fict =1 uTeRfeR aTfa s | ST @ 7

Why is a lake considered to be a natural ecosystem ?

4. I3 foma 30 cm a1 BISAT & TTTA FUUT o A 12 cm g W e
3 | UV gRT o fferet o 9R SAfiereron 6t g TAmET |

An object is placed at a distance of 12 cm in front of a concave
mirror of radius of curvature 30 cm. List four characteristics of the

image formed by the mirror.

31/1/3 4



5. 9 A & LA I IH § T@HRL FRT T YTehfcrh Tmei & ared &
o, g yer, et g o fhr M aret gAR SErEEt &
e & A 8 e g 7 2

How do advantages of exploiting natural resources with short term
gains in mind differ from the advantages of managing our

resources with a long-term perspective ?

6. I Sa 9 1 Aedd ® ? I8 BAR foTe wecaqul =i § 7 2

What is meant by wildlife ? How is it important for us ?

7. i feu T et wdien g i 3
(1) C2H50H+02—)

. S HoSOy4 |
(1) C,HsOH V) G

(ili) CH3;COOH +NaHCO3; ——>

Complete the following chemical equations :

(1) CHs0H+Op——

Conc.HpSO4

(i) CoHsOH 72224,

(ili) CH;COOH +NaHCO; —>

31/1/3 5 [P.T.O.



8. 3l e AR o 3 GI C4Hg 3 C3Hg 8 | 30 & form ANfires i
Tehe AT gAY SAfersh GuTaT B TeRdt 2 7 U I A gy
HINT | 38 THOT § GehoW AffsRen il Sfken & e & fog
e R | AT |

The molecular formula of two carbon compounds are C4Hg and
CsHg. Which one of the two is most likely to show addition

reaction ? Justify your answer. Also give the chemical equation to

explain the process of addition reaction in this case.

9. 3Ny Tad ARt % Fed warsdi o Qfast ufra o A forfay | foredt
Hed W H S H A ST W o o eifede Aiyaeen § w1 g
T 2 ¢ forelt @fast ufte 0 S TR @ gRff ST S W v e &
TEs § FIT 9fEdd BIaT ] 7 SRR GF1 YR % I ok 9 H N
A |

Write the names given to the vertical columns and horizontal

rows in the Modern Periodic Table. How does the metallic
character of elements vary on moving down a vertical column ?
How does the size of atomic radius vary on moving left to right in a
horizontal row ? Give reason in support of your answer in the

above two cases.

31/1/3 6



10. &5 dcd P (T G&1 20) Foret o= dc@ Q (W] €& 17) |
AfWfsRaT Ttk s Mk ST © | = T e et @1 R gfed W
difsre :
sy 3Tad |rvlt | P ok Q Y fedfom, qen P 3 Q <t stfurferan
SR & ATk 1 7] foafa | 3

An element P (atomic number 20) reacts with an element Q (atomic
number 17) to form a compound. Answer the following questions
giving reason :

Write the position of P and Q in the Modern Periodic Table
and the molecular formula of the compound formed when P reacts

with Q.

11. TS o TIN I8 fohe TR qw1id © o fofsm ceor woas €9 9 aengma
B © 7 e ife | 3

How did Mendel’s experiments show that different traits are

inherited independently ? Explain.

12. forelt 3aTewer it werrar @ = #ifse fr frafafaa 3 @ v e
TR STt o foreRTE o U&t § SHTOT TEqd AT © : 3
(a) THSITA 3T
(b) T (wgfr) ST
(c) Sftame

31/1/3 7 [P.T.O.



Explain with the help of an example each, how the following

provide evidences in favour of evolution :
(a) Homologous organs
(b) Analogous organs

(c) Fossils

13. FEAIE, 9 :
(a) TANTH IS TI7RIT FS 9T H e ST & 7
(b) e i u=ht Tieh gar | iR St 2 7
(c) it IR g i sfimupert (TaRfsmn) we St 8 ?

What happens when :
(a) Accidently, Planaria gets cut into many pieces ?
(b) Bryophyllum leaf falls on the wet soil ?

(¢) On maturation sporangia of Rhizopus bursts ?

14. <ifieh 9 W affirfera formel =R =ren 1 gt s SR 36 31 a1
fetfiee |

List any four steps involved in sexual reproduction and write its

two advantages.

15. TS H B a1 IREdAl o1 3gd shifsTg =i
(a) YO TMiUa (STRITU) B e ¢ |
(b) W& g / AU I Fu=r &l 7ia |

31/1/3 8



State the changes that take place in the uterus when :
(a) Implantation of embryo has occurred.

(b) Female gamete / egg is not fertilised.

16. foreft gdor & 30 cm gt W fedq Wil 1 saten o1 wfafers gdu &
T 38 g T 60 cm T T FErd u6 W war 2 | gdur il yepfa Fn R ?
gHeh! BIhd g AT hIfNT | Afe Saren A 39T 2.4 om ®, 1 39%
yfafers i S=ms s Hifsw | 3g@ hifsie for ow gfdafses dien g

AT 3T | 3

The image of a candle flame placed at a distance of 30 cm from a
mirror is formed on a screen placed in front of the mirror at a
distance of 60 cm from its pole. What is the nature of the mirror ?
Find its focal length. If the height of the flame is 2.4 cm, find the
height of its image. State whether the image formed is erect or

inverted.

17. w4 = &I gHsH &wat o faw # fafae | smen il fF 5@ @ 5=
4 forell areq <l g0 o1 aiEfad X 4d &, i 539 9 Sidfers Sl g aiatad
1 T Bt ¢ 3
Write about power of accommodation of human eye. Explain why

the image distance in the eye does not change when we change the

distance of an object from the eye ?

31/1/3 9 [P.T.O.



18.

19.

20.

3Rt ‘el feam’ W former™ it utd el @ | SIS W I

3G T T W e o foe g T R |

(a) TITEXUT o STETd o TOTQ TSI W sl QT 1 skl ST =1, ?

(b) & TRl <1 3uTat it =t sTs fSeh fowr & sierqdes Mg #eh
3T A9 T O SITeehdl 3= U1 3T S YT/ & F1-T1e
SIS T o TR0 # off TETeh gl |

You have been selected to talk on “ozone layer and its protection”

in the school assembly on ‘Environment Day.’
(a) Why should ozone layer be protected to save the environment ?

(b) List any two ways that you would stress in your talk to bring in
awareness amongst your fellow friends that would also help in

protection of ozone layer as well as the environment.

Hed % FANT 511 % ford TR 1 g7l Tk

(a) TRTOT TSIl 37erelT STATel B 8 7

(b) 31 AT T SR BT ThH—GEX H T BT @ ¢
How do Mendel’s experiments show that

(a) traits may be dominant or recessive ?

(b) inheritance of two traits is independent of each other ?

(a) WM T % 3G 3 1 AW faRaw St ypepropeti o fmior o6 arer-amy
Teh BIAM b1 Gaul i AT 2 | 8k g0 FIfeld BEM kT A9 3T
e feTRa |

(b) HHE HIET S 4 % 39 1 o1 A forflaw et fs=m grar ® |

31/1/3 10



(c)

(b)

(©)

21. (a)
(b)

(©)
(a)
(b)

(c)

22. (a)

31/1/3

T hISTC foh AT % IR % ofiat foresfdra 2 gor =1 diwor forg
TRR BIA1R | 5

Name the organ that produces sperms as well as secretes a
hormone in human males. Name the hormone it secretes and

write its functions.

Name the parts of the human female reproductive system where

fertilisation occurs.

Explain how the developing embryo gets nourishment inside the

mother’s body.

Torarea whior st = fomor s digeRt Fifse |

foreht @ o Trem @ o W sfad vod YRt & g gt
TIFH o TG H ToI3<h F01 B STd &, SARSAT T ?
FEUTT T ST IR TohT 3G TR 33T | 5

Draw a ray diagram to explain the term angle of deviation.

Why do the component colours of incident white light split into
a spectrum while passing through a glass prism, explain ?

Draw a labelled ray diagram to show the formation of a

rainbow.

TR foRtur STR@i i o1 R TH g9 U 31 foRn @ gAd |
et gdur & ured o uveETd Y e 1 S e g © | Ut
31 Fortont st gt SATST TR STadaet QU o Tkl | TR o JeTq
37 ToRTon o qeil o1 3g@ FifsT | =1 g1 foron 1 ST, 3tead
TUU o g IR BIkE o st feura foreht fomar o6 wfeforear <t ferfa,
TehTeT fohoT TR Tt J1d & | hifse |

11 [P.T.O.



(b) IS FFAA FUU I WA 20 cm T4 W ea forelt foray =1 9
T STTaEfa Hfefonst 98 o ST © | 9ei fored 9 fohat w7

(a) To construct a ray diagram we use two rays which are so chosen
that it is easy to know their directions after reflection from the
mirror. List two such rays and state the path of these rays after
reflection in case of concave mirrors. Use these two rays and
draw ray diagram to locate the image of an object placed

between pole and focus of a concave mirror.

(b) A concave mirror produces three times magnified image on a
screen. If the object is placed 20 cm in front of the mirror, how

far is the screen from the object ?

23. 3AA ¥ & TR § forw gt () o iy wfdifers €@t (v) § fommor s
2 arelt = & T Seqor diferent sk foeawor A 3R gfeRad fre

form & fforftaa yeat & 3@ e
& u (cm) v (cm)
| -90 + 18
2 - 60 +20
3 -30 + 30
4 -20 + 60
5 - 18 +90
6 - 10 + 100

31/1/3 12



(a) 3T <i¥ oh! BIhd G AT ? T I o 987 H R0 T |
(b) 3T Seaur il Y T fafaw it w7 2 | 7% fswy eman fohm

TR HepTetn ?

(c) 13 oft 3t YT R w&v T 4 & forw ek foRor s

Hifau 3R e =1 A9 /19 J1d ShifS |

Analyse the following observation table showing variation of

image distance (v) with object distance () in case of a convex lens

and answer the questions that follow, without doing any

calculations :
S. No. | Object distance Image distance

u (cm) v (cm)

1 -90 + 18

2 - 60 + 20

3 —-30 + 30

4 - 20 + 60

5 - 18 +90

6 —-10 + 100

31/1/3 13
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(a) What is the focal length of the convex lens ? Give reason in

support of your answer.

(b) Write the serial number of that observation which is not correct.

How did you arrive at this conclusion ?

(c) Take an appropriate scale to draw ray diagram for the
observation at S. No. 4 and find the approximate value of

magnification.

24. G IR STIHTSH ST & TG0 o TRR § | 3 GH1 H TR faRaw |
T sh TobTs Sfskan At T fafer forfaw | wreq wer <1t o @1 =i
FIT T T ? AT o TUH W fEetiel 1 ST A o FHROT 39
T et foheei a1 Tt o1 3g@ iR |

Soaps and detergents are both types of salts. State the difference
between the two. Write the mechanism of the cleansing action of
soaps. Why do soaps not form lather (foam) with hard water ?
Mention any two problems that arise due to the use of detergents

instead of soaps.

31/1/3 14



(@) 2,4,1,3
(b) 2,1,4,3
(c) 1,2,4,3

d 2,1,3,4

The correct sequencing of angle of incidence, angle of emergence,

HOT -
SECTION-B

25. = fou U @ § A9 shivn, fla wien, Tued i qen uifvdes
Toreemm =1 314hT 1, 2, 3, 3TN 4 g1 OE 0 | e TR g9Tian T 8 7

angle of refraction and lateral displacement shown in the following

diagram by digits 1, 2,3 and 4 is :

(@ 2,4,1,3
(b) 2,1,4,3
(c) 1,2,4,3

(d) 2,1,3,4

31/1/3
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26. =l fou Tu @ | W HAfhd v g

(a) LASR Le

b) Li,ZA3R £D
() LA, ZLr3R Le
(d LA, Zr3R £D

In the following diagram the correctly marked angles are :

(a) LAandZLe
(by Li,ZAand LD
(c) LA, ZLrand Le

(d LA, ZLrand LD

31/1/3 16



27. IS 3 A 9 g TRl gy forar, fSrmeht oo 90 1 € 7, &

gfciferes =l 7 T WIehR{ad id §,
1
I R 39 forear & wfcforesy <t et 2t -
(2) ! (b) (c)
¥

(d)

If you focus the image of a distant object, whose shape is given

below, on a screen using a convex lens,

the shape of the image of this object on the screen would be :

(a)

31/1/3
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(b)

(c)

17
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28. dH BET A, B 3R C 7 forelt gy saq &1 s1adet guuT Y IeridT ¥ g
T R TR | 3taae guu i wieRd g Faffa & & faw 3=n
freaferfaa g wmd -

B A : 30§ 9E T I gl

B B : Wad § 94 a i gl

BE C : WG | g 9 6l gt

TE IR g HIOH 1T /AT B 2 /3
(a) Had A

(b) FIA B

(c) A3NB

(d) B3R C

Three students A, B and C focussed a distant building on a screen
with the help of a concave mirror. To determine focal length of the

concave mirror they measured the distances as given below :
Student A : From mirror to the screen

Student B : From building to the screen

Student C : From building to the mirror

Who measured the focal length correctly :
(a) Only A

(b) Only B

(c) AandB

(d) Band C

31/1/3 18



29.

30.

AT H AeHteRtor <t rfufsran 61 qoia / feffa w@ & foe 9w
3R T =T =t fe=m T e | wieH ge 31feren 3ueh @ ? 1

(a) Tl FT A 3R Hicoam eRgiFaEs
(b) TUE &1 I N Ficday TESIFTES
(c) TRUH 1 T TR Tifeam BEeiadEs
(d) TTE! 1 d 3R Fifgam gEgiadEs

For demonstrating the preparation of soap in the laboratory which
of the following combinations of an oil and a base would be most
suitable ?

(a) Mustard oil and calcium hydroxide

(b) Castor oil and calcium hydroxide

(¢) Turpentine oil and sodium hydroxide

(d) Mustard oil and sodium hydroxide

ATk UTE IR WEHEl, A, B, C 3R D # $u3: HISIH FEHL,
Tifeay e, 94 # Tt 3R i femm 1 e w21 @

forg |/ fort Traafeamt & gered 1 3w wHifew / wdAiEs v o T
TieaT 3 foTT e 3ugh 2 ? 1
(a) Had A

(b) A3NB

(c) B3R C

(d) AIRD

31/1/3 19 [P.T.O.



31.

You have four test tubes, A, B, C and D containing sodium
carbonate, sodium chloride, lime water and blue litmus solutions
respectively. Out of these the material of which test tube / test tubes

would be suitable for the correct test of acetic / ethanoic acid ?

(a) only A

(b) Aand B
(c) BandC
(d AandD

fordlt T 7 =R @At P, Q, R 3R S off 3 Iss # @it 8 mL

A ST | | qeaveTq 39+ T@Het PH Na,SOy4, QH K,SOy4, RH
CaSOy4, S § MgSO, sl THH 9T =iel | T el ¥ |e &
foreram <t T AT et 3T 38 sielt-Tehr faetifed o w38 oM

AT | T | § 0T 916 B, 98 e T ©

(a) P3M Q
(b) PR R
(c) P,Q3M S
(d) Q,R3MW S

31/1/3 20



A student took four test tubes P, Q, R and S and filled about 8 mL
of distilled water in each. After that he dissolved an equal amount
of Na,SOy4 in P, K,SO4 in Q, CaSO4 in R and MgSQOy4 in S. On
adding an equal amount of soap solution and shaking each test tube

well, a good amount of lather will be obtained in the test tubes :
(a) Pand Q

(b) PandR

(¢c) P,QandS

(d) Q,RandS

32. ffefad @ & qusTTa 31l & S= &l g 1

(a) e 3R foraedt o 1@
(b) TGS TR FHe & T@

(c) T, s 3T fouehedl & AIE

(d) faaeht 3R =wmee % ua

Select the set of homologous organs from the following :
(a) Wings of pigeon and a butterfly

(b) Wings of bat and a pigeon

(¢) Forelimbs of cow, a duck and a lizard

(d) Wings of butterfly and a bat

31/1/3 21 [P.T.O.



33. = o SIS o YT 1 S&0 A 90 Tl B 9 = few o1gER qur
farfirer syt <Y g=ht oS
SfiTrerur, sismvegR, SiSr, 3T e, T, T |
T4 = 1 <R ek 9eied | 9 feouft i, foh 378 9 e W W
HERMEGEEHERIEIECE TS ef

(a) SSTTS, SASTERET, ST

(b) SIS, T, AT

(c) 5w, 37a:had, e

(d) i, SiSvesR, T

A student while observing an embryo of a gram seed listed various

parts of the embryo as listed below :

Testa, Micropyle, Cotyledon, Tegmen, Plumule, Radicle.
On examining the list the teacher commented that only three parts
are correct. Select these three correct parts :

(a) Cotyledon, Testa, Plumule

(b) Cotyledon, Plumule, Radicle

(c) Cotyledon, Tegmen, Radicle

(d) Cotyledon, Micropyle, Plumule

31/1/3 22



34. 39 A ST & YRR 1 AF faflau foaw v S Sifven 8 9
Tt ShIRTRIST T THTOT BIdT & 3T S shifSTehT 1 3ATCdcd THTE &

ST 2 | 3H YW =AU 1 3gW HIfSTT fSo@ 380 TehR & S ol 310y
BT ® | 39 S & Jed &1 UM o TRE it | 2

Name the type of asexual reproduction in which two individuals
are formed from a single parent and the parental identity is lost.
Write the first step from where such a type of reproduction begins.

Draw first two stages of this reproduction.

35. 15 B 10 cm BT gl 1 3T < <iehl HHeTA sl SITal sl oig &
AT 60 cm g W @Al & 3 ST o Ffforest sl 9q 9 BIehfdd
AT © | 3H YT I8 SaTell bl il-¢fit o it T R S @
3R T IR gfcfers sl 98 W Biwfad ft F:ar g | 2

(a) AT o Tl ol BIeH(Ed T o oL o U i Toh TR HLHTdT
-G A AR AT AT AL 7

(b) wfcfers = @rgst | o gitadd gran g ?

(c) Sarel o «i@ & e @ W wfafers ft dferar & @ afteds grar
27

(d) < & T fohaft g R SATET Bl T T 3G TUTH HISS T 3eel
Yefers ST 2 ?

31/1/3 23 [P.T.O.



A student places a candle flame at a distance of about 60 cm from a
convex lens of focal length 10 cm and focuses the image of the
flame on a screen. After that he gradually moves the flame towards

the lens and each time focuses the image on the screen.

(a) In which direction-toward or away from the lens, does he move

the screen to focus the image ?
(b) How does the size of the image change ?

(c) How does the intensity of the image change as the flame moves

towards the lens ?

(d) Approximately for what distance between the flame and the
lens, the image formed on the screen is inverted and of the same

size ?

36. Wi A TRl wWEaet § Aifead BESeH FHEHe 1 RSl oot 3qd
UHifes 3Tre Tlerd €, df L 21 diigl JasaTae o |1l ohis 1 feherd 2 |
39 719 1 AW TTRaT 371 37 w&for &1 9uid hifS ST 36 79 i 9ga™
HI P FATR |

A gas is liberated immediately with a brisk effervescence, when
you add acetic acid to sodium hydrogen carbonate powder in a test
tube. Name the gas and describe the test that confirms the identity
of the gas.

31/1/3 24



